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Reconstitution of a Partnership Firm  
Retirement/Death of a Partner 

New Profit Sharing Ratio 

                New profit sharing ratio is the ratio in which the remaining partners will share future 

profits after the retirement or death of any partner. The new share of each of the remaining 

partner will consist of his own share in the firm plus the share acquired from the retiring 

/deceased partner. नया लाभ साझाकरण अनुपाि वह अनुपाि है क्िसमें शेष साथी ककसी भी 
साथी की सेवाननवतृ्ति या मतृ्यु के िाद भत्तवष्य के मुनाफे को साझा करेंगे।  शषे साथी में स े
प्रत्येक का नया हहस्सा फमम में अपने स्वयं के हहस्से से युति होगा और साथ ही ररटायर / मिृक 
साथी से प्राप्ि हहस्सा होगा। 

 Consider the following situations : 

(a) normally, the continuing partners acquire the share of retiring or deceased partners in the 

old profit sharing ratio, and there is no need to compute the new profit sharing ratio among 

them, as it will be same as the old profit sharing ratio among them. In fact, in the absence of any 

information regarding profit sharing ratio in which the remaining partners acquire the share of 

retiring/deceased partner, it is assumed that they will acquire it in the old profit sharing ratio 

and so share the future profits in their old ratio. For example, Asha, Deepti and Nisha are 

partners in a firm sharing profits and losses in the ratio of 3:2:1. If Deepti retires, the new profit 

sharing ratio between Asha and Nisha will be 3:1, unless they decide otherwise. (ए) आम िौर 
पर, िारी रखने वाले साझेदार पुराने लाभ साझाकरण अनपुाि में सेवाननविृ या मिृक भागीदारों 
के हहस्से का अधिग्रहण करिे हैं, और उनके िीच नए लाभ साझाकरण अनुपाि की गणना करने 
की कोई आवश्यकिा नहीं है, तयोंकक यह पुराने लाभ साझा अनुपाि के िीच समान होगा  उन्हें।  
वास्िव में, लाभ के िंटवारे के अनुपाि के िारे में ककसी भी िानकारी के अभाव में, क्िसमें शेष 
साथी सेवाननविृ / मिृक साथी के हहस्स ेका अधिग्रहण करिे हैं, यह माना िािा है कक व ेइस े
पुराने लाभ के िंटवारे के अनुपाि में हाससल करेंगे और इससलए अपन ेपुरान ेमें भत्तवष्य के मुनाफे 
को साझा करेंगे।  अनपुाि।  उदाहरण के सलए, आशा, दीक्प्ि और ननशा 3: 2: 1 के अनपुाि में 



मुनाफे और नुकसान को साझा करने वाली फमम हैं।  यहद दीक्प्ि सवेाननविृ हो िािी है, िो आशा 
और ननशा के िीच नया लाभ साझा करने का अनुपाि 3: 1 होगा, िि िक कक वे अन्यथा 
ननणमय नहीं लेि।े 

(b) The continuing partners may acquire the share in the profits of the retiring/deceased partner 

in a proportion other than their old ratio, In that case, there is need to compute the new profit 

sharing ratio among them, and it will be equal to sum total of their respective old share and the 

share acquired from the retiring/deceased partner. For example: Naveen, Suresh and Tarun are 

partners sharing profits and losses in the ratio of 5:3:2. Suresh retires from the firm and his share 

was required by Naveen and Tarun in the ratio 2:1. In such a case, the new share of profit will 

be calculated as follows: (ख) िारी भागीदार अपने पुराने अनपुाि के अलावा अन्य अनुपाि में 
सेवाननविृ / मिृक भागीदार के मुनाफे में हहस्सेदारी हाससल कर सकिे हैं, उस क्स्थनि में, उनके 
िीच नए लाभ साझाकरण अनुपाि की गणना करने की आवश्यकिा है, और यह िरािर होगा  
अपने संिधंिि पुराने हहस्से की कुल रासश और ररटायररगं / मिृक साथी से प्राप्ि शेयर का योग 
करने के सलए।  उदाहरण के सलए: नवीन, सुरेश और िरुण 5: 3: 2 के अनपुाि में लाभ और 
हानन साझा कर रहे हैं।  सुरेश फमम स ेररटायर हैं और उनके हहस्से की आवश्यकिा नवीन और 
िरुण द्वारा 2: 1 के अनुपाि में थी।  ऐसे मामले में, लाभ के नए हहस्से की गणना ननम्नानुसार 
की िाएगी: 
New share of Continuing Partner = Old Share + Acquired share from  the Outgoing Partner 

 

Thus, the new profit sharing ratio of Naveen and Tarun will be = 7 : 3. 

(c) The contributing partners may agree on a specified new profit sharing ratio: In that case the 

ratio so specified will be the new profit sharing ratio. 

Gaining Ratio 



The ratio in which the continuing partners have acquired the share from the retiring/deceased 

partner is called the gaining ratio. Normally, the continuing partners acquire the share of 

retiring/deceased partner in their old profit sharing ratio, In that case, the gaining ratio of the 

remaining partners will be the same as their old profit sharing ratio among them and there is no 

need to compute the gaining ratio, Alternatively, proportion in which they acquire the share of 

the retiring/deceased partner may be duly spacified. In that case, again, there is no need to 

calculate the gaining ratio as it will be the ratio in which they have acquired the share of profit 

from the retiring deceased partner. The problem of calculating gaining ratio arises primarily 

when the new profit sharing ratio of the continuing partners is specified. In such a situation, the 

gaining ratio should be calculated by, deducting the old share of each continuing partners from 

his new share. For example, Amit, Dinesh and Gagan are partners sharing profits in the ratio of 

5:3:2. Dinesh retires. Amit and Gagan decide to share the profits of the new firm in the ratio of 

3:2. The gaining ratio will be calculated as follows : क्िस अनपुाि में ननरंिर भागीदारों न े
ररटायररगं / मिृक साथी से हहस्सा हाससल ककया है, उसे लाभ अनपुाि कहा िािा है।  आम िौर 
पर, िारी रखने वाले साझेदार अपने पुरान े लाभ साझाकरण अनपुाि में सेवाननविृ / मिृक 
भागीदार का हहस्सा हाससल करिे हैं, उस क्स्थनि में, शेष भागीदारों का लाभ अनुपाि उनके पुरान े
लाभ साझाकरण अनुपाि के समान होगा और गणना करने की कोई आवश्यकिा नहीं है  लाभकारी 
अनुपाि, वैकक्पपक रूप से, क्िस अनुपाि में वे ररटायररगं / मिृक साथी के हहस्से का अधिग्रहण 
करिे हैं, वह त्तवधिवि रूप से िंद ककया िा सकिा है।  उस मामले में, कफर से, लाभ अनुपाि 
की गणना करने की आवश्यकिा नहीं है तयोंकक यह वह अनुपाि होगा क्िसमें उन्होंने सेवाननविृ 
मिृक साथी से लाभ का हहस्सा हाससल ककया है।  लाभकारी अनुपाि की गणना की समस्या 
मुख्य रूप स ेिि उत्पन्न होिी है िि ननरंिर भागीदारों के नए लाभ साझाकरण अनुपाि को 
ननहदमष्ट ककया िािा है।  ऐसी क्स्थनि में, लाभ अनुपाि की गणना अपने नए हहस्स ेसे प्रत्येक 
िारी भागीदारों के पुरान ेहहस्स ेको घटाकर की िानी चाहहए।  उदाहरण के सलए, असमि, हदनेश 
और गगन 5: 3: 2 के अनुपाि में लाभ साझा कर रहे हैं।  हदनेश ररटायर हो गए।  असमि और 
गगन 3: 2 के अनुपाि में नई फमम के मुनाफे को साझा करने का ननणमय लेि ेहैं।  लाभ अनुपाि 
की गणना ननम्नानुसार की िाएगी: 



 


